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B+ 800m 1#8
NO. | BS [EZ 5% [ e | B =5
12 1407 |ElE TR 3 |UDARK A= 1 15919
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3 1703 |3E7T Si0 2 | KIREEX fed L 3 20025
o’ 1705 M3 ANH 1 | KIRERKX REL 4 201.29
5 333 |]IIP Hifus 3 | REES RED 5 20194
&) 702 |YI1E 25 4 |REKX NI 6 20268
1 6-1914 | (P S 3 | KRIXK NI 4 20289
8 |6-1539 |wR& =g 2 |WEBEEIKX A= 8 20559
9 3760 |h0pE PN L 2 |t S RED 9 20582
4 |6-2550 |1 AO%G 1 | RIK == 10 20945
14 1456 |[O%5 R 1 |ODARK A= 11 20993
11 7-28 | KR JTE% 2 [B2d REL 12 21218
10 1199 |thH =77 1 |ZEERINES I &2 13 21853
13 1408 |)110O & 3 |UDARK A0SR DNS
B+ 800m 2#H

NO. [ BS [EZ 5% e Be | L =5
5 445 |#FHH fié 3 [=5E) NI 1 15352
9 1645 | = 2 |EAMNK NI 2 15583
4 1894 |%2E fze 3 (885 = 3 1.55.99
1 1788 | K5 B 2 |[BFFEERA =dS] 4 1.58.35
2 703 |HD ZE 3 |REK I=dS] 5 1.58.60
8 5-221 |i=p% i 3 |EZRK %0 S) 159067
7 | 6-1909 |1tAy E) 3 | KRILK RED V4 20140
6 [6-1917 | K&l I~ 2 | KRIKX =dS] 8 2.03.30
3 91 St ag B 2 |BEHLYyYs =B DNS
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10 462 |= 73| 3 |25 NI® 1 15270
5 60 XEY = 3 [EEX NI 2 1.53.51
2 |6-1928 |f8H = 3 | KRIKX e 3 15513
9 095 |&xH papL 4 |REKX == 4 1.56.68
3 1572 |BfY =5 \Y LN NI 5 15749
1| so [Nt —m WEESS FIE 6 20001
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1 10227 B EM 2 |ERUFRS N 1 43637
4 465 (Do R 2 |KEBHKXKS I & 2 45532
13 | 7517 |0&  Rf=E 1 |ESS RED 3 45948
8 806 |BIIl  B1e 1 | KIRERER S0 4 45989
3 792 |NEB @ Bifc 2 | KRERERRK RED S 500.14
12 | 1269 | L& E0D 1 L& RED 6 50332
’ 467 |BE TH 2 |KIEEBAXS I & ’ 50413
2 | 75872 WL ™E 1 |Zils REB 3 50503
11 811 |HR E}RF 1 | aER NEB 9 5.11.00
6 [100-28 X &8/ 2 |BAEEY RED 10 51264
14 | 7-5874 |38 1 |Zil& RED 11 5.14.96
15 | 5141 |k  =EfE 1 |ES REB 12 516.25
5 [100-29 |&8H  ¥J) 2 |BEXT REB 13 5.26.00
10 795 |B  B=E 2 | KRERERRK NP 14 5.29.76
16 91 B8 1© 2 | REREFRK NP 15 5.30.04
17 | 7-8871 |F8 =<5 1 |Zdl& RED 16 531.66
18 | 2068 |=8 W% 1 |IR#ER I & 17 54304
9 696 [Ntz ¥ 1 |PRS I & 18 DNS
B+ 1500m 1A
NO. &5 |K% T |PhE B= 157 [Eiiw Itz
5 716 |XtB 165 3 |REAKN RED 1 4.01.90
15 189 |ZF#H  EBM 3 |iaaKN = 2 4.03.63
2 97 |IN &8 2 |BEEX S 3 4.04.81
18 | 1709 WA IE 1 | RREFRK NEB 4 4.06.60
16 184 |&@% hE 3 |1Zaa K bi@e 5 41040
10 | 1640 (B  TAX 3 |EAENKX RED S 41215
7 |6-1942 |8 @ EIR 2 |Zil& RED ’ 41432
17 | 1711 |[BH &6 1 | RREFRK NEB S 41627
6 219 |BR &7 1 |RBXNNES N 9 41647
8 |6-1947 = B5% 2 |Zila RED 10 41744
4 611 |[&xk 1BEG 3 |aEX ADER L 11 41820
20 | 3161 | K BFH 2 |H#IS RED 12 4.23.39
11 | 2887 |7 EBR 1 |REK REB 13 42384
19 | 2073 |ikB  KNig 4 |BWAK = 14 42422
12 | 1309 |BEB &2 1 LS RED 15 42974
O | 5-606 |#kB  BAX 3 |BARBHAKX =gl 16 4.32.05
13 | 1308 |HeH (=) 1 |[MWLS REB 17 45556
14 | 2694 |=; X 1 |BEFSK EE 18 51485
3 1987 [Pk IEX 2 | KX NBR DNS
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3 363 |#E = 2 |NENHES = 1 10.44.66
16 354 |FEH RkB1E 1 | REFES WE 2 1048383
3 360 |XT E=WF 1 |tElus WE 3 104922
9 376 |IRF B 1 |V ES = 4 10.49.58
’ 7202 (kB < EBEE 1 |YonBES RED S 10.50.35
S 6370 |=a™E B8& 3 |REWs RED 6 105213
20 362 |& B# IR 2 |LENIEES = ’ 10.54.65
29 | 7-5873 LA EBR 1 |Zils REB 3 105517
23 | 7231 o K% 1 |lonfES REB 9 10.55.50
41 | 7504 | BB 3 |FtE RED 10 10.56.03
33 | 8043 (W & 2 |RET@FES RED 11 10.57.04
15 353 |l W& 2 |REFES WE 12 105927
30 374 Ml #IK 1 VBN ES = 13 11.038.11
21 361 |58 BER 2 |LWENBES = 14 11.03.28
o 6371 |X%E In=E 3 |RHWUS RED 15 11.0417
17 355 |MAX N 1 | REBEZES WE 16 11.14.32
22 | 7201 |1BR KB 1 |1onfES REB 17 11.16.76
12 737 |aE = 3 |i&8S RED 18 11.20.52
34 | 8047 |Rt D& 1 | RET@TFES RED 19 11.21.96
13 834 |EHB K& 1 |#=EbS RED 20 112292
27 666 |#l  KRE (kTS AOERLL 21 11.23819
4 36 |MB 8 1 |UBEHmES = 22 11.23.91
38 | 7002 |faF RE 1 IS RED 23 11.2552
18 357 |KE&  EER 1 | REBEFES WE 24 11.25.78
35 | 7464 |IBEH - BR 3 |REBAKRAES REB 25 112917
31 380 |EE8 FR 1 |V ES = 26 11.30.91
32 | 8044 | B 2 |RET@FES RED 27 11.32.92
1 30 |©@8h ¥3& 1 |[UEHmES = 28 11.33.89
43 | 7008 |PAR  B= 1 RIS REB 29 11.37.86
25 31 WFx BX 3 |RBANNES N 30 11.3892
10 ’ = I 1D 3 |mEmES = 31 11.43.05
14 6 NS ¥R 3 |mEmES = 32 11.44.49
2 264 |BE %S 3 |tEsllE WE 33 114763
39 | 8046 |MB  EfE 1 | RELFS REB 34 11.51.23
40 | 6651 |EBEN  BEAR 2 |FAS RED 395 115147
19 275 | BR 1 |ZEDS B 36 11.58.05
44 | 7005 |18 B 1 |BIS RED 37 120744
36 | 6670 |[ARRK i 3 |Ea REB 38 120817
37 |6-5857 ) I88 AR 2 |Zila RED 39 123710
42 | 7007 |=&E8 W 1 |BIS RED 40 14.090.34
11 28 (1B HYE 2 |uEmES = DNS
24 9 WH  =F 3 |mEmES = DNS
26 664 |fi K 1B 1 |55 A0SR DNS
28 37 O EBE 1 |DBEmES = DNS
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14 5 =X = 2 |INSEPRS =0 1 10.14.73
2 1587 (R HYO 3 |2ES = 2 10.20.05
13 3 il BJ 3 |NEPRS =0 3 10.20.28
12 | 8041 | AN  IBAR 2 |REWFS REB 4 10.20.50
20 | 6218 |  F# 3 |tambES RED S 10.25.98
3 Bl 128 1 [0S A0SR © 10.26.85
49 | 8038 |[mMAx EBEE 2 |RET@FES RED ’ 10.30.82
1 1586 |&0 3 |ZBS = 8 10.32.53
42 761 |EH 520N 1 | BFARUS AOERLL 9 10.32.80
40 | 7203 |Bm: KK 1 |YonBES RED 10 10.33.46
28 362 |=F i 1 |tElU&E WE 11 10.34.93
11 | 7466 |KHE 54 3 |REBAKRAES REB 12 10.35.13
17 321 | =R 2 |PRS I & 13 10.35.34
45 361 | &K% 1 [tealls WE 14 10.35.75
30 655 (N BRI 3 &5 ADER L 15 104284
15 319 poE =R 2 |PRS I & 16 10.44.36
51 | 8039 |lR % 2 |REWFS REB 17 104519
16 320 |Bl R%® 2 |PRS I & 18 1047.21
3 1619 BN B 1 |2ES = 19 104794
o 36 |ex BS 2 |BEOLYYS =R 20 10.50.95
38 659 |/NIl  #HB=E 2 |85 AOERLL 21 10.52.11
50 | 8042 |BRN EE 2 |REWFS RED 22 105282
36 | 1607 |  T® 2 |2BS = 23 10.53.03
22 43 |FIs = 1 |BEAOLyYS =R 24 10.59.92
10 657 |silB @ EE 3 |55 ADERLL 25 11.00.29
33 27  |BER EX 1 |OBEmES = 26 11.00.85
43 [100-29 | &)l Fbeap 2 |AEEY RED 27 11.09.49
41 | 7217 |BL  =EDHE 3 |ofES RED 28 11.10.75
44 10 (U DH 1 |NSEPRS =0 29 11.13.31
37 | 1610 |48 ZIX 2 |2ES = 30 11.18.38
39 660 |AN  (BfE 2 |55 A0SR 31 11.18.58
48 | 7494 |giH = 1 | REBAKRTES REB 32 11.19.53
4 1620 |TTIN ik 1 |2BES = 33 11.20.33
O |3-1219|ddB  ZEIh 3 |BAFDOP ADERLL 34 112707
o2 70 RS E 2 |REFES WE 395 11.30.64
35 | 1589 |lEB & 3 |2BES = 36 11.36.96
34 | 18588 |HE  XNE 3 |2BS = 37 11.50.11
S5 34 |BE B2 3 |BFAOLYyYS = DNS
’ 40 |I8H ¥R 2 |BEAOLYYS = DNS
18 33 |IkEA & 2 |mBEmES = DNS
19 29 (BB 34 2 |uEmES = DNS
21 34 |BH BDHH 2 |mBEmES = DNS
23 46 | ER 1 |BFAOLy YIS = DNS
24 ’ I R 2 |INEPRS &1 DNS
25 2 By BB 1 |NEPRS =0 DNS
26 6 NE %8 1 |N\SPRS =0 DNS
27 359 |KE = 1 [teallS WE DNS
29 318 |&E BS 2 |PRS I & DNS
31 23 |[#& ER 2 |mEmES = DNS
32 26 |54 EBEE 2 |WEMmES = DNS
46 31 s BRE 1 |OBEmES = DNS
47 38 |[ME B3 1 |DBEmES = DNS
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1 10230 |80 X 2 |ERUFRS N 1 92912
2 5123 |RBII FI3 3 |ES RED 2 9.31.11
15 | 6-120 |[XF {816 1 |REXR REB 3 0.36.64
18 | 5120 | B 3 |ES REB 4 03754
26 260 |BH¥ R 3 |[tkallLS WE S 9.40.78
3 365 |l =i 1 |HElUS WE 6 04757
4 656 (BN B 3 &S ADER L ’ 0.51.94
30 | 5121 |Lf8  &EB 3 |ES REB 3 05223
20 | 1604 |f@AX 0D 2 |2ES = S 0.52.45
6 186 |S S 2 |BERS WE 10 0.53.44
8 39 |¥B  ®’D 2 |BEAOLYYS ~E 11 0.53.64
28 364 |iBK ORI 1 |kslU&E WE 12 05787
13 | 6-113 |38l 55 2 |REX REB 13 10.00.12
23 | 10234 |{fkix Tk 1 | BRUFRS NP 14 10.00.86
16 | 6-121 |2l DD 1 |REXR RED 15 10,0307
25 257 |=B W= 3 |tEsll&E WE 16 10.03.64
10 264 |BAX  ([d3z 3 |EHO& BH 17 10.03.94
37 1 i == I VE S 3 |NEPRS &1 18 10.06.24
31 2] BIF 1 [0S A0SR 19 10.06.64
19 | 1603 |JIldE  BEX 2 |2BS = 20 100712
17 | 5124 |JUK  &HHD 3 |ES REB 21 10.07.21
24 | 10232 |k R 1 | ERLFRS NBR 22 10.09.31
O 45 |8 =<5 1 | BEHOLyYS = 23 10.10.02
33 | 100-15 |F2F Im4E 3 | REB 24 10.10.10
32 661 |iBK B 2 |55 ADERLL 25 10.11.32
34 | 1605 |[RXK %% 2 |2ES = 26 10.12.01
44 347 |HB B&% 2 |BERS WE 27 10.13.54
7 375 |WR  =HF 1 |BERS WE 28 10.15.44
36 44  |IFR B 1 |BEAOLyYS = 29 10.16.54
49 |3-1152 |B  X= 3 [FMRUATER A0SR 30 10.16.66
11 | 6-111 |18 BARC 2 |RERXN bi@e 31 101747
48 | 1618 o w891 1 28BS = 32 10.17.78
27 266 (MU BT 3 |tEsllE WE 33 10.21.54
12 | 6-112 |1kE =@ 2 |REXN REB 34 10.24.58
39 269 BB BR 2 |thallE WE 32 10.32.94
35 41 ws  MNF 1 |BEAOLyYS = 36 10.39.66
40 271 [INII = 2 |tEll&E WE 37 10.39.94
45 185 |  BNRie 2 |RERS WE 38 10.49.26
46 374 |PE = 1 |BERS WE 39 11.02.45
38 268 |HxB - Efé 2 |tElls WE 40 11.04.46
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14 | 6-114 |JIIF  HE 2 |REX REB DNS
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29 32 | MR 1 |[UEmES = DNS
41 35 |®&EE X 2 |mBEmES = DNS
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43 17 |BE X 2 |mBEmES = DNS
47 | 5140 |NWL 2 1 |ES REB DNS
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46 2 HE HE 1 |NSPRS =0 1 0.23.86
21 | 3944 |IWwx EW 2 |RUS RED 2 0.33.51
13 | 2811 |&M 8 1 |FES RED 3 9.33.73
12 371 |KkE BX 1 |LWWEANTEES = 4 03792
47 803 |# B3N 3 |[BXR—& N S 9.39.90

’ 757 )0 B 1 | BHEIRUS A0SR S 9.41.63

2 828 [fAE  BRX 1 |RERIRS RS ’ 9.43.90
34 | 3906 |#KE i 3 |RUS REB 3 04421
11 | 3353 |&AR KB 1 |1oeEES REB 9 9.44.59
25 674 |l RH 1 |BIXES A0SR 10 9.44.86
14 | 1117 |®FAKX @90 1 |ES RED 11 04535
17 | 3905 |Gfd &% 3 |RUS REB 12 94610

8 048 |mEF Kt 3 |KIEEBARS I & 13 04652

1 1198 |/t BIA 1 |ERIXS Iz & 14 048.78
33 927 |mB w3l 1 |BlUs WE 15 0.490.04
29 | 1311 |fiB EX 1 WS RED 16 9.56.00
10 | 2453 |BX &K 1 | RELS REB 17 9.56.80
38 022 |HN B¥ 1 |BWS WE 18 Q5727
20 | 3924 |hE  RiGHA 1 |RUS RED 19 9.59.65
23 | 3942 @l =z=sl 2 |RUS RED 20 10.00.18
30 | 1113 |[Edd &RE 1 |ES REB 21 10.01.56
39 o6 |PEH B 2 |[Bls WE 22 10.03.13

3 1023 (BM B3 2 |eBs = 23 10.04.34

9 848 |Bimz  Kig 2 |KEEBARS I & 24 10.05.13
16 944 WA  EA 1 |ERIXS I & 25 10.08.10
44 | 1119 |gilB  $BFI 1 [tEallS WE 206 10.09.08
15 | 3710 |[#AE  ABB 2 |REAKRTAES RED 27 10.09.32
22 | 3943 WR =R 2 |RUS RED 28 10.10.51
18 373 |[ERK BN 1 |ZEDS & 29 10.13.53
27 | 3928 |BB B= 1 |RWS REB 30 10.21.68
26 675 |@x 1 | B0IXES A0SR 31 102219
35 | 1313 |&%  &E 1 LS RED 32 10.25.59
40 | 2458 [FEHRR B 1 | RELS RED 33 10.27.35
49 812 [P FEiB 2 |BERX—& N 34 10.28.86
24 | 3945 |BH ER 2 |RUS RED 32 10.29.23
32 | 1310 |80 =M 1 LS RED 36 10.29.85
37 | 3933 |MW A 1 |RUS RED 37 10.30.61
50 | 1265 |T&X B 1 |BER—& NEB 38 10.36.25
19 | 3927 |75k X 1 |RUS RED 39 10.38.81
41 | 3423 |xB  EEARS 1 |'BE2S RED 40 10.58.63
42 | 2810 |7lS Bt 1 |FES RED 41 11.06.35
36 | 3947 |§B « KiE 2 |RUS REB 42 11.23.53
43 924 IR &9 1 |BWUS WE 43 112416
45 | 2544 |[RE  EB#H 2 |RHUS RED 44 1259.76
31 1925 |l =ig 2 |SBS = DNF

4 2929 |&afig  RF] 2 |E8a REB DNS

5 2930 (@l E= 2 |BEEa RED DNS
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1 63 |BN K 3 | KNk& N 1 8.23.90
5 187 |REB  B1F 3 |iaaKX 5B 2 8.35.24
10 |4-1016|EM &E 3 |F0SRLLB=ERR ADER L 3 8.39.51
2 95 |mifE A—BB 1 |BFAOLyYS = 4 8.43.00
21 805 |K¥ =& 3 |[BERES RS S 8.43.60
11 672 |#HE HPIX 1 | BIIXES AOSRLL S 3.51.94
53 | 3513 |  BErE 1 |'8ES RED ’ 85203
20 653 |BH @3 1 |PRS I & 3 8.54.46
17 |4-1045 |16 &Efo 3 |F0SRLLB=ERR AOERLL 9 8.55.26
6 2160 | L 1 |iZaaK RED 10 8.56.54
13 725 (@l EA 1 | REBEFES WE 11 85748
3 822 |8 . 1 |RERRS RS 12 85764
4 103 |k 1 |BFAOLyYS = 13 85789
’ 98 |IkAx BE 1 |BFAOLy YIS = 14 8.58.04
23 148 |t  EA 3 |F0MWILS ADER L 15 9.00.45
19 |4-1034 | M2 BE 3 |F0SRLB=ERR ADER L 16 9.00.65
33 808 |[fAAX  #E 2 |[BERES RS 17 9.00.69
30 651 |/  —if 1 |PRS Iz & 18 9.04.75
14 101 |PIl —38 1 | BEAOLyYS ~E 19 9.06.15
24 |3-1068 |L£idb It 3 |F0SRLLB=ERR A0SR 20 907.16
27 54 A B 1 | BFRARUS ADERLL 21 90734
12 722 |tBiE &Sk 1 | REFES WE 22 9.08.25
41 347 |8 BESK 2 |LENIEES = 23 900947
16 644 |LUB B 3 |PRS I & 24 9.09.78
45 | 1922 |X& AL 2 |SBS = 25 01224
37 824 |AX e 1 |RSFRS RS 26 9.13.01
50 | 1114 g =R 1 |ES RED 27 01324
28 758 |PEF  EX 1 | BHEIRUS ADER L 28 9.13.35
31 827 |&fk  thiH 1 |BERRS RS 29 0.15.94
44 28 |Bl B3k 1 | UEFES WE 30 9.15.99
38 823 [FE « A*0 1 |RERIRS RS 31 91645
54 719 |8 1E—BA 1 | REBEFES WE 32 0.16.64
34 174 [TA R 2 |F0MWALS ADERLL 33 91757
32 648 | K 2 |PRS I & 34 9.19.99
40 | 3359 |PA  TE—BB 1 |YonBES RED 35 0.20.04
25 99 (B & 3 | KRS NEB 36 021.04
42 726 |Ph RESK 1 | REBEFES WE 37 02223
47 | 3574 |[&F KK 2 |’BFEaS REB 38 02454
26 | 2350 ™ il 3 |ItE = 39 0.26.34
52 |100-14 P8 BAX 3 |AEXD RED 40 0.35.54
51 367 |K& B 1 |ZEDS B 41 037.34
35 829 |E¥ ‘3 1 |BERES RS 42 03887
48 | 1910 |BO  &X 2 |eBs = 43 04142
46 129 |BK  FEN 2 | KNk NEB 44 041.78
43 24 gl =& 1 | REBEFES WE 45 04268
49 51912 |IhF  BE 3 |Zil& REB 46 04887
39 | 3586 |AI  EERR 2 |BFES RED 47 0.58.68
S 99 (B = 1 |BEAOLyYS ~E DNS
9 669 | (BfF 2 | F0SRLB=ERR ADER L DNS
15 Or |EB BZ 1 |BEOLYyYS ~E DNS
18 | 3584 |81 & 2 |’BFEa REB DNS
22 639 X Mo 3 |PRS I & DNS
29 | 2808 @I &xzNn 1 |FES RED DNS
36 | 1331 |FX  KNig 3 |EEBK REB DNS
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3 3164 |fgRy R 2 |#IS REB 1 10.37.16
2 3167 |B)Il &S 2 |HEIS RED 2 10.57.99
1 1704 R =20 1 | KRERERER NEB 3 120874
4 3163 |FE = 2 |EIs REB DNS
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NO. | #HES K% T |PhE Ba=175 [Eiiw Itz
1 19  |Hls B% 3 | KIRIEES N 1 170751
4 40 |&E = 2 | KIRIEEES NEBR 2 17.08.66
3 579 |ER ¥ 1 |[OUDFEKXR WE 3 17.34.95
5 20 |BHB == 3 | KERiEiE= NEB 4 174411
2 577 |EB B 2 |UODFEXR AR 5 174612
’ 41 A B2 2 | KIRIEES NEB S 18.06.95
8 42 |EE HER 2 | KBRiEiES NEB v’ 18.09.55
6 45 |fy X\ 2 | KBRiEie= NEB 8 182522
9 49 |’BK B 1 | KIRIEEES NEB 9 184256
10 | 2067 |B8W  ©% 3 |IR#EXN I & 10 1853.14
11 86 |gEEE  MIKTF 3 |RBANMNES NB 11 19.26.86
14 51 BA  BABE 1 | KRERiEiES NEB 12 192787
12 93 |HE == 2 |RBANNES NEB 13 19.33.78
15 50 |BH  Fikx 1 | KERMEiES NBR 14 19.50.78
17 43 |IREx B2 2 | KIRIEEES NER 15 20.15.26
16 52 |BR B 1 | KBRiEiES NE 16 20.19.31
13 44  |R¢b = 2 | KIRIEEES N 17 20.20.70
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NO. &5 |K% T |PhE B= 157 [Eiiw Itz
35 | 4216 |&H f#X 3 |REWT@FS REB 1 16.24.25
2 3733 |NEF  #EX 1 | REBAKRTAES RED 2 16.31.33
4 97 |/ &L 2 |Bls WE 3 16.37.79
36 | 4229 |8H KB= 2 |REWFS REB 4 16.41.44
21 | 4230 |& SoIE 2 |REW@FES RED S 16.44.52
14 588 |ht  A— 1 |FElS A0SR © 16.46.36
8 1313 | K 2 |MWS RED ’ 16.47.78
3 100 | KB =@ 2 |BU&s WE 3 16.47.99
’ 3923 [EZH HE= 1 |RUS REB 9 164843
6 3026 |0 ElE 1 |RUS RED 10 16.49.25
5 3946 |KFP  [EIE 2 |RUS RED 11 16.50.60
11 | 2541 (Wl = 2 |RELS REB 12 16.52.96
20 153 |88 3F5#H 1 | RBR& NEB 13 16.53.50
28 | 2776 |I\B 367 2 |BEs RED 14 16.55.05
39 | 2778 | B 2 |8ds RED 15 16.57.30
41 | 7-4915 |Efn  =BR 1 |Zdl& RED 16 16.58.78
23 926 | K1 B3 1 |[BWaS WE 17 17.08.06
17 463 |fkEB  BEfG 1 |#=EbS RED 18 17.09.30
O 1094 |2 =40 3 | AKX ~E 19 171729
18 237 |(INEB BT 4 |IR#ER Iz & 20 172095
42 461 @R BB 1 |#%E0S REB 21 172210
40 | 2770 (W  FEA 2 |BEs RED 22 172256
16 | 1315 gk B3l 2 |MWS RED 23 17.2539
27 458 |&§ A0 3 RS NBR 24 172568
10 184 (FB Kb 3 |RBANNES NBR 25 17.30.51
34 | 2894 |=5)1 ERE 1 |oEERIF= REB 206 17.33.25
19 159 (Bl Infél 1 | KRS NP 27 17.36.18
26 | 2919 It &2t 1 |MonBEAiF= REB 28 173687
12 | 2458 | KNim & 1 | RELS REB 29 17.38.30
15 586 |EWL 70t 1 |FE8a A0SR 30 17.39.91
22 88 |BH®  [Esl 2 |BWs WE 31 175231
44 | 4237 IO 123 1 | RET@FES RED 32 175341
30 351 = Bz 2 |f&Shs RED 33 175424
51 | 3168 |fAfd BB 2 |#Is REB 34 17.54.99
47 | 1350 |REB —%& 3 |[MWS RED 32 175537
25 155 |EB  &# 1 | KBRS NP 36 180719
46 | 1314 |88 EiS 2 |MWS RED 37 181923
33 | 1270 |l &30 2 |ODFEX = 38 182929
43 | 7-4917 |12 Nl 1 |Zils RED 39 1829052
45 | 4238 |fifd KT 1 | RET@TFES RED 40 1829.75
31 | 2805 |RIIl R 2 |FPS RED 41 1840.70
1 2592 |25 IB¥E 1 |REBK £E 42 18.46.40
850 | 3151 |= IR 2 |HEIS RED 43 19.21.05
52 | 3174 |BXx = 1 IS RED 44 20.25.75
32 25 |BE & 3 |¥EHBS A0SR DNF
13 | 2775 | 1B= 2 |B8ds REB DNS
24 | 2786 |I§ Sl 1 |8Es RED DNS
29 |6-1922 |p)Il IE 2 |KRIX NEB DNS
37 | 4231 | L@ BE 1 | RET@FS RED DNS
38 | 2583 |tz RSl 2 |REBKR 0 DNS
48 | 3173 |WR & 1 |EIS REB DNS
49 | 3172 |2l  FHABB 1 IS RED DNS




B+ 5000m 2#A

NO. &5 |K% T |PhE B= 157 [Eiiw Itz
9 1302 |&d  H¥E 1 WS REB 1 1558.72
36 | 4232 |KH R 1 | RET@TFS RED 2 16.04.42
19 168 (LA BEA 2 |F0MWALS ADER L 3 16.17.01
1 810 | = 2 |IBERERS RS 4 16.18.31
10 | 3352 |/\K  JIS 1 |MonfES RED S 16.1849
37 | 1312 |=& BRI 1 LS RED 6 16.20.15
25 | 2550 |[WE EBX 1 | RELS RED ’ 16.20.34
32 121 (A BRXR 2 | KNk& NEB 3 162297
2 840 |# thkl 3 |BRSFHRS RS 9 16.24.86
20 187 |8% EA 1 [0S AOERLL 10 16.26.19
51 372 | AT«4F TI) 1 |LWWEANEEES = 11 16.26.87
34 | 3590 |ZE# - 285 2 |’BFES REB 12 16.27.46
27 362 |8l BA 2 |EHOS & 13 16.28.08
42 811 |[BH = 2 |RESFIRS RS 14 16.2894
5 227 |8 &KX 1 |RBANMNES NP 15 16.29.28
12 353 |B# &t 2 |f&Shs RED 16 16.2967
24 | 2549 | R =L 1 | RELS REB 17 16.29.92
21 181 |&H 70t 1 [0S ADERLL 18 16.30.16
29 |6-1914 [P EHi& 3 |KRIX NEB 19 16.31.90
43 |6-1948 |B  [E3f 2 |Zil& RED 20 16.33.57
18 226 |BmA  EBX 1 |RBANNES NEB 21 16.34.75
35 | 4234 |8§F & 1 | RET@FS RED 22 16.35.63
48 | 2812 WX  Biv 1 |FES RED 23 16.35.81
15 49 B B 3 |NEPRSG =0 24 16.36.23
23 102 8 BF 2 |BU&s WE 25 16.37.00
31 272 |2k ME 2 |IL#ER I & 206 16.44.68
16 208 |RXix BE 2 |RBANNES NP 27 164577
17 204 |HE Bt 2 |RBANNES NBR 28 164813
26 | 2454 NIl #6fC 1 | RELS REB 29 16.50.13
4 841 |& REZIT 3 |[BERES RS 30 16.50.93
38 | 1329 [ZBH K 2 |MWS RED 31 16.51.67
28 |6-1919 K8  ZEK 2 |KRIRX NB 32 16.51.95
46 | 1577 BB & 3 |[MHEFES 5E 33 16.52.72
11 | 2165 |1  RHEl 4 |FEXR ADERLL 34 16.54.78
S 1101 |BN & 2 |ES RED 32 16.56.41
8 1281 |LE  RH 1 |ODFEKX REB 36 16.57.39
49 | 3502 |AE BB 1 |'8ES RED 37 16.59.52
3 3727 |1BB WS 3 |REBAKRAES REB 38 16.5987
850 346 |(Pm & 2 |LWENRES = 39 17.0093
40 352 |Fr &t 2 |i&5ha RED 40 170846
47 148 (WA #RK 2 | KNfk& NBR 41 17.08.70
83 793 Bl £ 1 [0S ADERLL 42 170893
30 671 |FE XX 1 |BIES AOERLL 43 171022
82 197 (&N B8 2 |RBANNES NP 44 17.15.05
14 21 fn B2 3 |INEPRS =0 45 171574
22 | 1155 MR £3l 3 |=&& = 46 17.16.31
13 | 3723 |IhE  J6— 3 |REIKAS RED 47 18.08.34
44 30 |FiB BC 3 |#EHBS AOSRLL 48 1827.21
’ 166 | tHAHH 1 | KBRS NEB DNS
33 736 |iBK  FBL 2 |REBKR REB DNS
39 459 |Bm = 3 |&RS N DNS
41 177 |HF &% 3 |RBANMNES NBR DNS
45 | 2606 |AXIR 8% 1 |[EERIXR S DNS




B+ 5000m 3#A

NO. &5 |K% T |PhE B= 157 [Eiiw Itz
32 | 2457 | R/ 1 | RS REB 1 15.37.06
26 | 1102 |l Bz 2 |ES RED 2 15.38.05
9 265 |HI &X 2 |I%#ER I & 3 154017
44 606 (BN E&t 3 |aEX WE 4 15.44.08
2 733 | =E 1 |tallS WE S 15.46.81
3 735 |2l = 1 [te8lls WE 6 154719
25 | 1301 |BR & 1 LS RE ’ 154929
18 164 |IBX Y 2 |F0MWItS ADERLL 8 15.50.82
46 812 |#T%F  &ic 2 |[BERES RS 9 15.51.45
S 261 |PEE FE 2 |I%#ER I & 10 15.53.85
14 457 (IR sl 3 RS NP 11 155448
23 357 [Pk HE 2 |EDS & 12 1554.77
6 251 |fix IRtb 3 |I%#ER I & 13 155513
30 | 2918 |l K& 1 |oERF= RED 14 15.55.36
27 676 |KH  FSK 1 |B0IXES ADER L 15 155562
42 | 1306 |feld K& 1 WS RED 16 15.55.90
21 809 |ER  E—BB 2 |[BERES RS 17 15.56.39
50 | 3739 |/\K =3l 1 |REHKRAS RED 18 15.57.69
15 484  |)IIBRE L 2 |tkalls WE 19 16.00.05
39 | 3702 |B»x =B 2 |REPIKEES REB 20 16.01.54
31 351 |Ed &KX 2 |LENIRES = 21 16.03.11
24 | 7-4916|I\&  1BA 1 |Zils RED 22 16.04.13
36 171 |88 AR 1 | KBRS NEB 23 16.07.34
29 | 3381 |[LWAN —E 2 |YoifES RED 24 16.08.74
47 | 3701 |[@8F  [ES 2 |REBAKRES REB 25 16.1057
52 | 1104 WX  Imkl 2 |ES REB 206 16.12.31
43 268 |/l g 3 |i&ES RED 27 16.13.03
41 271 st EE 3 |iBES RED 28 16.13.72
1 221 |#Wsm BEZED 1 |RBANNES NBR 29 16.15.26
16 732 |WO  #3 1 [tEallS WE 30 16.15.58
10 93 |K ZPN 3 | Kk NEBR 31 16.20.03
28 668 |Efh £ 1 |BEIXES ADER L 32 16.20.26
33 | 2531 |iBK f#%E 2 | RS RED 33 16.2047
19 178 |AfE  SAABB 2 |F0MWALS ADERLL 34 16.24.26
37 885 [WLE 5B 1 | KRS NEBR 32 16.24.55
38 | 3576 |BE - Z=A 2 |’BEaS RED 36 16.25.06
13 | 3721 |RHF =# 3 |REPIKOES REB 37 16.2657
’ 259 WA Kig 3 |I%#ER I & 38 162743
17 141 |B& 535K 3 |FRWIS AOERLL 39 16.28.08
48 | 1585 |[NH —& 3 |[MEFES =& 40 16.3827
34 | 2543 |WB K& 2 |AELS RED 41 16.39.36
12 | 3908 |&H  #Fs5A 3 |RUS REB 42 16.46.78
11 | 3906 |#E KB 3 |RWS RED 43 16.54.89
51 1001 |k B 2 |eBs = 44 16.55.63
40 | 3728 |/\K  &EX 3 |REPIKEES REB 45 16.57.55
20 261 |5 =% 3 |BARURES REB 46 174648
4 244 |\FE BX 4 |IL#ER I & DNS
5 248 =@ 3 |I%#ER I & DNS
22 364 |HE EF 2 |EDS B DNS
35 156 | L% Ml 1 | KBRS NEB DNS
45 698 WK 5A8 4 |REBR REB DNS
49 740 | KN HBE 2 |REKN RED DNS
53 742 |Bx 8% 2 |REBKR REB DNS




B+ 5000m 4#A

NO. &5 |K% T |PhE B= 157 [Eiiw Itz
13 | 1146 |G B85 3 |ES REB 1 150784
41 616 |/hr  FH3 3 |aEX 5B 2 15.08.82
9 821 |& Rt 1 |RERRS RS 3 15.16.11
55 351 |B® I&EA 3 |EDS & 4 15.16.64
10 637 |@¥E k3l 2 |aER = 5 152317
17 | 3362 QW mwsl 3 |ofES RED 6 1852773
’ 803 |&xBH U= 3 |BERIRS RS ’ 152807
19 119 |RE  (£)& 2 | KBRS NEB 3 152834
40 | 1353 |[IlBNW  BX 3 |MWS REB 9 15.28.60
34 1 Ao #H5 1 |NEPRG &1 10 152883
47 641 |R#E X 3 |PRS I & 11 15.29.04
2 6 gt #B=E 2 |INSEPRS =0 12 15.31.51
39 760 |l BX 1 | BFARUS AOERLL 13 15.31.75
3 1620 |#%H  (B# 3 |iBKS RED 14 15.34.74
8 804 |#&% REARA 3 |[BERES RS 15 15.35.09
36 355 |AM I 2 |f&Shs RED 16 15.37.36
21 106 |&BA 1| 3 | KNk& NEB 17 153917
45 |6-2549 |PE  #HA 1 | KRIX 5B 18 154119
44 646 |KB IEFE 2 |PRS I & 19 154268
38 759 |BAX BE 1 |BHEIRUS A0SR 20 154334
35 | 1729 [IkRK =R 1 |EEEX = 21 154357
42 640 |80 =S 2 |OER NBR 22 154385
5 800 |HER ¥— 3 |RERHIRS = 23 154459
32 | 2595 |[XB A 1 |REK 0 24 15.46.20
16 | 1143 &8 3 |ES REB 25 15.46.58
51 | 3738 |#B E3) 1 | REBAKRAES REB 26 15.48.31
18 79  |Ih&F  IRY 3 | Kk NER 27 15.49.90
12 | 1111 |88 BE 1 |ES RED 28 15.50.30
1 26 |tB8H ‘T 3 |NEPRS =0 29 15.50.60
20 VG P N ol - 3 | KNk& N 30 15.50.81
25 716 |t B8 1 |BSTRS NEBR 31 15.50.82
52 483 |18 B8R 2 |tEll& WE 32 155083
48 801 | =2 3 |BERHRS RS 33 155112
43 | 2532 |PE &n 2 |AElLs REB 34 155816
15 | 1118 |2l  #h#% 1 =S RED 35 155883
23 150 |(F0m  %Htd 3 |EEtRlS NEB 36 16.00.28
6 802 [xB W 3 |BERHRS RS 37 16.02.01
24 151 (A6l =S 3 |EfRiS NEB 38 16.13.72
54 134 | E@B K& 2 |REFES WE 39 16.15.44
49 (6-1535 (W0 &3 3 |HERIK WE 40 16.23.82
22 149 |[BA& &N 3 |FEhalis NEB 41 16.25.08
14 | 1103 |T1H 68l 2 |ES REB 42 16.28.77
4 336 |5 JEABB 2 |BERS WE 43 164527
50 338 @R #uE 2 |BERS WE 44 164682
11 1333 |IREx 16l 3 |EBK NEB 45 16.50.63
26 336 |HE &S 3 |NENHES = DNS
27 739 |8l A 2 |REKN N DNS
28 723 |NH 165 3 |REAKA =& DNS
29 731 e = 2 |REBKR EE4 DNS
30 28 |[ME M 2 |REBKR i DNS
31 730 |FlE W 2 |REKR N DNS
33 712 &g BN 3 |REAKA RED DNS
37 369 |KKN FB 1 |ZEDS B DNS
46 820 |Gk BN 1 |RERRS RS DNS
853 358 |Re¥F ALK 2 |EDS @ DNS




B+ 5000m 5#A

NO. &5 |K% T |PhE B= 157 [Eiiw Itz
14 | 6-360 (B B2 3 |REX REB 1 150762
O 271 |kE &3l 2 |I%#ER I & 2 151113
16 ’ PANITI, v 2 |INQEPRS =0 3 15.11.41
17 16 RE & 2 |INEPRS =0 4 151228
29 808 |[I§E BB 2 |BR—S N S 15.12.78
41 1307 |WE  &=o 1 LS RED 6 15.13.04
30 815 [X%F  EX-L 1 |BER—& NP ’ 15.13.59
45 128 |80  Ki# 2 | KNk& NEBR 3 151443
27 | 1116 | B 1 |ES REB 9 15.15.65
21 806 |IIW&R @% 3 |REFHRS RS 10 15.17.70
31 | 6-364 |EB MK 3 |REXR REB 11 151793
25 411 |PEE =N 2 |IBPI& RS 12 151923
52 | 1325 |#H  #F 2 |MULS REB 13 152045
3 487 |WRE Kt 2 |tkallE WE 14 15.20.78
15 |6-1524 |ficbk £ 1 |REXR RED 15 15.23.64
8 258 |AB KB 3 |I%#ER I & 16 152388
4 1147 MR ELEA 3 |ES REB 17 15.24.49
43 285 |W AKX 1 |I%#ER I & 18 15.24.89
35 | 1277 |8 EHl 1 |ODFEKX AR 19 152711
44 | 1580 |B)6  4LBB 3 |[MEFES =E 20 152753
24 | 1907 |dwm 15 2 |&Hs = 21 152818
1 366 |(HK RI 3 |BLFRS 5E 22 15.28.60
38 | 1285 |&d@  KXi& 1 |ODEKX RED 23 15.28.89
32 339 |(FIR F& 3 |i&ES RED 24 152917
39 | 2533 | =i 2 |AELS REB 25 15.29.96
36 | 1279 |IIWRR R 1 |[ODFEKX ANIR 206 153027
10 276 |18 518 1 |I%#ER I & 27 15.30.90
5 238 |IBK BF 4 |l%#ER I & 28 15.35.51
50 | 3709 |FH 82X 2 |REAKRS REB 29 15.36.15
33 | 1266 |I# A0t 2 |ODFEX NI 30 153844
26 | 1321 |88 BH 4 |BEBAK WE 31 153957
47 68 |BblE X8 3 | KNk& NBR 32 15.41.51
11 140 [FTxXx  #BABB 2 | Nfr& NBR 33 154261
49 | 3503 |/llim  F&7T 1 |'8FES REB 34 1546.76
42 283 |WLE 1 |I%#ER I & 32 1547.41
40 419 [IBAX  EX 3 |IBPIS RS 36 154781
18 800 U hiB 1 |RBANNES NEBR 37 154812
6 245 |LKR &= 4 |I%#ER I & 38 154896
12 150 B4 S2 2 | KRS NP 39 15.52.40
19 740 (&8 LERD 1 |BERS WE 40 155427
20 340 |#kEB K 2 |BERS WE 41 15.59.29
’ 252 (|BER  BX 3 |I%#ER I & 42 16.12.01
34 | 1269 |&dH &K 2 |ODFEX £E 43 16.12.70
22 141 (LB 88 2 |REFES WE 44 16.15.49
13 148 |BER K& 3 |EEreElis NBR 45 16.2211
2 172 |B & 2 |FRWILS ADERLL DNS
23 79 |EBfe WX 3 |BEAOLYYS = DNS
28 660 |& KB M2 |REKX =% DNS
37 | 1284 |8l 1ZKBA 1 |ODFEKX REB DNS
46 134 (B & 2 | KNfk& NEB DNS
48 741 | Rl F=— 2 |REKR £E DNS
51 | 3735 |LE XKl 1 | REBAKRAS RED DNS
53 719 |BE BN 3 |REBK REB DNS




B+ 5000m o6#f

NO. &5 |K% T |PhE B= 157 [Eiiw Itz
21 | 3582 |B®AX Bt 2 |’BFEa REB 1 144546
40 | 3707 |y NMBR 2 |REAKRTAES RED 2 144794
23 | 1264 |5 J6=h 2 |OUDFEKX AR 3 1449037
24 | 1265 | Kl  F=sl 2 |ODFEX 5E 4 14.51.06
29 826 |gE  IRX 1 |RERIRS RS S 145243
1 3534 |EB MNE 3 |BMES RED 6 14.56.01
26 | 1282 |&&III #EW 1 |ODFEKX AR ’ 1457.60
3 647 |8JIl Kt 2 |PRS I & 3 145965
6 338 |MXK BB 3 |[LVENIEES = 9 15.03.20
19 | 6-359 |HX =& 3 |REX S0 10 15.04.01
33 | 3587 |Zm K 2 |’BES RED 11 150867
17 30 (BN A 3 | KERiEiE= NEBR 12 15.08.88
44 | 1106 | KWL =% 2 |ES REB 13 15.09.10
83 273 [Ty ¥ 3 |iBES RED 14 15.11.04
10 478 |KIE K 3 |kEluS WE 15 15.12.01
13 211 |Bid =B85 2 |1es K WE 16 151224
48 | 1115 |ZEH &3l 1 |ES REB 17 15.12.59
49 | 2823 |&4H iy 3 |FAS RED 18 151283
45 171 (B BA 2 |FRWILS A0SR 19 15.13.31
47 272 |BX ER® 3 |iBES RED 20 15.15.04
37 | 2013 |&8&X B 1 | KRR NEB 21 151592
30 208 |88 =M 2 |iIagKN B 22 15.16.14
46 665 (WA  F05% M2 |REAKX 5 23 15.16.53
2 29 |BhE b 3 |¥EHBS ADER L 24 151833
’ 577 | = 3 |MEia ADERLL 25 15.19.04
22 | 1247 |BE  £75 1 |228EX 20 26 15.20.68
34 | 3722 |@E KR 3 |REBAKRAES RED 27 15.21.50
11 22 |ANW KR 3 |NEPRS &1 28 152211
35 542 &N @ EX 3 |ERIXS I & 29 15.25.80
4 A77 (KR KSR 3 |[tkallS WE 30 152615
41 642 |WHB  HABS 3 |PRS I & 31 15.31.45
5 593 |l BX 4 [EFEX = 32 15.32.56
51 1145 |8 &3 2 |ES RED 33 15.34.46
12 579 |l B3l 2 |FMika ADERLL 34 15.34.80
36 893 |XNUAN HE 2 |22EKX = 35 15.36.19
52 262 | RE 3 |BrRURES REB 36 15.36.38
16 143 |—K % 2 |REFES WE 37 15.36.62
8 479 | IE 3 |[tkElWS WE 38 15.37.03
25 | 1271 |=@ &3 2 |UDFEXR 5B 39 153794
50 | 3578 |KE K& 2 |1BFRES RED 40 15.39.33
42 624 | @ EE 3 |aEX B 41 15.39.56
20 |6-1527 |8 IR=E 1 |REX REB 42 154337
9 1723 |J\1x &=l 1 |[aER = 43 154582
43 649 |fg)Il RISk 2 |PRS I & 44 154907
32 139 (Y B 2 | Nik& NBR 45 154998
27 | 1283 |R PN 1 |ODEX NIk 46 15.59.36
39 642 |ig 5O 2 |OER = 47 16.12.84
18 78 ||l IRAE 3 | Kik& NP 48 162497
28 | 1286 &)l E#EX 1 |ODFEKX ADER L 49 16.38.41
15 133 | 1Y3RBA 2 |REFES WE 50 16.39.12
14 721 |80  1§fo 3 |REBKR AOERLL DNS
31 | 3351 | B9 1 |YonBES RED DNS
38 22 |RBII RE 3 |REBK REB DNS




B+ 5000m T#A

NO. &5 |K% T |PhE B= 157 [Eiiw Itz
15 201 |S bl 2 |18eaK WE 1 144585
22 |6-1520 |™mJIl £ 1 |REX RED 2 14.46.38
52 654 |PR K 1 |PRS 3= 3 144664
14 428 [BA @33l 3 |IBFIs RS 4 144785
12 | 1973 |[MWKX £ 4 | K#ER N S 144822
45 267 |TIR  R®¥ 3 |i&ES RED 6 1448583
34 260 |&Z@  RY 2 |Ix#EX Iz & ’ 1449047
33 255 |HIR =S 3 |I%#ER I & 3 145067
8 145 |IRO  BF 3 |F0MWALS AOERLL 9 145127
25 25 |t 3 |NEPRS &1 10 145154
47 638 (L@ 1BEA 2 |EEX BIx 11 145307
40 | 3530 |/ IRt 3 |’BES REB 12 145363
50 | 1562 |1l  —H& 3 |[MHEZES £E 13 14.53.89
16 190 (3HI =N 3 |iaKN =) 14 14.54.30
4 489 |50  =ER 2 |tElus WE 15 145458
3 1990 MR &6 2 | KX NE 16 145616
48 670 |fBglB =W M1 |REBK = 17 14.56.40
38 | 1965 |{&h g 1 | REFER =R 18 145719
26 | 4774 |INE —E NTTHBERX NP 19 145807
5 405 |TTIA DEsk 2 |tEll&E WE 20 15.01.68
2 90 |k 5@ 2 |BEAOLYYS = 21 15.02.04
51 57 [ME 1K M2 |REBK NBR 22 15.04.04
30 | 1722 |&W  # 1 | aEX RIF 23 15.04.75
32 249 |& EEARA 3 |I%#ER I & 24 15.08.09
21 | 3577 |FH 2 2 |’BFES REB 25 15.08.36
13 416 |HA  (BEH 3 |IBPIS RS 206 151204
28 592 |8 IK& 4 [EFEX I & 27 15.12.70
36 263 |WE B3 2 |I%#ER I & 28 15.12.96
10 138 |pH &3 2 |REZES WE 29 151343
43 | 3504 |JIIF 1HR 1 |’"BFES REB 30 15.13.72
39 | 3523 |iBK 53 3 |BFMES RED 31 15.14.09
31 242 |8 SE 4 |l%#ER I & 32 15.14.54
41 | 3539 |EM =) 3 |’BFES RED 33 15.14.93
29 609 |24& bt 3 [aER B0 34 15.15.76
17 206 |®miE BH 2 |iIaaKN RED 32 15.16.02
44 | 3732 |BTFEN B 1 | REAKRTAES REB 36 151627
11 596 |KW  EE 4 [EFEX =yl 37 152013
27 | 2520 |IiFE R 3 |RELS REB 38 15.23.36
18 85 |Fx EA 3 | KRS NBR 39 152427
37 280 | IR 1 |I%#ER I & 40 15.24.58
6 198 |88 Gk 2 |RBANNES NBR 41 15.34.30
19 155 |8l K& 2 |EEfRliiS NEB 42 154388
35 262 |FPEE  IHE 2 |IL#ER 322 43 15.44.20
23 |6-1522 Rt &KX 1 |REXR RED 44 154648
49 | 1808 |6H  IEHE 4 | RKHR NBR 45 155222
1 84 |KBE& =N 3 |BFHOLYyYS = 46 15.54.86
46 636 |l EE 2 |OER CEa 47 16.34.37
’ 186 |RFW = 2 |RBANNES NEB DNS
9 650 (LB EBX% 2 |PRS I & DNS
20 715 |&N X 1 |EEbRliS NEB DNS
24 8r |=B 2 |BRAOLYYS = DNS
42 | 3500 |mE s 1 |/BFMES RED DNS




B+ 5000m 8#A

NO. &5 |K% T |PhE B= 157 [Eiiw Itz
5 179 |# A— 3 |1ZaEK = 1 142435
18 157 |NE & B¥ 5 |iaaKX SR 2 142646
19 213 |5 5 2 |XagK S 3 142893
44 | 6-379 |8~ &) 2 |REX NS 4 142896
26 | 3509 |=m &I 1 |1BFMES RED S 143114
20 240 |& EA 1 |1ZasK WE 6 14.31.24
4 138 (¥R @ik 4 |11apK =R ’ 143197
’ 1140 |RHF  BiE 3 |ES REB 3 1432.76
8 3 QX & 3 |NEPRS =0 9 143423
46 | 4769 |l Wl NTTHBER NP 10 14.35.26
47 659 |FBH BX M2 |REKX REB 11 143754
2 319 |BM EX 3 |RERS WE 12 143824
3 154 |58 B 2 |EEfRiS NEB 13 144113
11 318 |y B8 3 |BERS WE 14 144119
27 | 3512 |EE B 1 |'8EaS RED 15 144174
23 | 1337 |l oIl 3 |EEBK WE 16 144262
9 643 |FX ZB 3 |PRS I & 17 14.43.01
30 | 3725 |™m 8= 3 |REHIKAES RED 18 144310
15 7 |l & 1 | REFES WE 19 144765
33 670 |8FE S5 2 | F0FRWBER A0SR 20 144842
37 253 |ER  #ibm 3 |I%#ER I & 21 145012
32 645 |ED IS 3 |PRS I & 22 145042
S 232 |[@B  EF 1 |1ZasK RED 23 14.50.71
21 78 |mB B% 3 |BHEHAOLYY ~E 24 1450.78
39 275 |PH  BERR 1 |IR#ER I & 25 14.50.81
28 81 i I ] 3 |BFNLYYS = 206 145112
35 641 |9  BABB 2 |aEX NP 27 145292
14 142 (&8 B 2 |REFES WE 28 145436
12 734 |BBH EX 1 |22ERS WE 29 145565
38 257 |f#T =} 3 |I%#ER I & 30 145821
49 | 2012 |EB  EARS 1 | RARK NP 31 1459.78
34 618 W& F 3 |aEX NBR 32 145997
48 | 3529 | KB 0@ 3 |’BFES RED 33 150042
17 812 [N &N 3 |BEFRX N 34 15.02.32
10 327 |BN XS 3 |BERS WE 32 15.02.74
16 729 |Mm =55 1 | REZFES WE 36 15.04.45
31 640 (B8E&  1HABB 3 |PRS I & 37 15.04.84
42 | 3570 | K& 1&—BB 2 |’BFEaS REB 38 15.08.88
22 92 |fnE —m] 2 |BEAOLYYS = 39 15.090.64
13 139 |¥E X 2 |REFES WE 40 151262
29 | 3724 |[ARK B85 3 |REPIIKEES REB 41 15.13.33
25 | 3589 8K #HH 2 |’BFEaS REB 42 15.13.45
40 73 |FEO 1D 3 | KNk& NEB 43 15.14.65
45 | 1721 (B = 1 | aEX NP 44 15.19.66
50 82 |EWR A 3 |BEHOLYyYS ~E 45 152012
41 156 |AHB  =IBB 2 |EEfRiiS NEB 46 152278
36 246 |XKA  F05E 4 |IL#ER I & 47 15.30.44
1 328 | RS 3 |BERS WE DNS
24 | 3380 |= =] 2 |\oiEES RED DNS
43 805 |EB A 2 |BR—5 NEB DNS




B+ 10000m 1#H

&5 |K% T |PhE B= 157 [Eiiw Itz
6-362 |f)ll  FFE 3 |REX WE 1 29.54.30
6-342 BN  BE 4 |RER RED 2 30.18.23
888 |B® It 4 |22;EKN EE4 3 30.18.84
6-343 |RI&R B8 4 |RENXN B 4 30.19.12
11 | 6-344 |§B & 4 |RENXN RED S 30.33.88
15 | 6-347 |BAA  EX 4 |RER RED 6 30.36.00
5 1240 |EN BB 1 |E28ERX =8 ’ 30.37.14
3 897 |¥&F RBX 2 |2E2ERKN ~E 3 30.38.15
2 891 |k —E 3 |22EK =8 9 30.47.41
4 896 |FiEx & 2 |22EK =8 10 30.54.94
6 1245 W |A 1 |E28ERK RIF 11 31.32.62
17 | 6-381 |F)Il K& 2 |RER REB 12 31.39.04
8 895 |&6 - BB 2 |22EX R0 13 3201.74
10 | 1244 |B@W £ 1 |228EKX P 14 32.11.04
7 894 |BE 2FH 2 |2E2EK =8 15 322213
9 1246 |E&F%  EZ7 1 |E28ERX WE DNS
12 | 6-348 |7t K B&T 4 |RENXN RS DNS




